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Tonalité et armature

| Alain Lefebure

Le syteme tonal est basé sur le mode majeur et le mode mineur mais la gamme de référence est la gamme de DO
Majeur
qui

¢ commence par Do

* 1n’a aucune altération
e forme la succession ton -demi ton suivante

Pour une meilleure compréhension il faut mieux considérer la gamme de C maj comme I’association de 2
tétracordes disjoints
qui montre la symétrie des tons et demi tons

etracaordea

5 HlC

La reproduction du Tétracorde dans une direction ou dans I'autre nécessite une adaptation pour garder la
séquence ton- ton- demi ton (S pour semi-tone)

Chaque tétracorde vers la gauche ajoute un Bémol et chaque tétracorde ves la droite ajoute un dicse.

2 Gammes séparées d’une quinte ont un tétracorde commun et un tétracorde avec ajout d’une altération ( dicse
en montant ,bémol en descendant)

En commengant la gamme de C majeur sur chaque degré on s’apercoit qu’il faut ajouter des dicses pour garder la
succession Ton-Ton -Demi ton (sauf sur le fa ouil faut ajouter un bémol)

Gamme triée par nombre croissant de dieses produit une progression par quintes
ee-sc
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Mombre de diéses

Motes

Gamme triée par nombre croissant de bémols produit une progression par quartes

Mombre de bémaols 0 1 2 3 4 &5 &
MNotes C F Bb Eb Ab Db Gb

Mis ensemble

Bemols
Mb daltérations 6 T - 3 2

Gb Db Ab EB Bb

En temperament égale Gb et F# sont enharmoniques (méme son) qui ferme la progression d’ou la notion de cercle
des quintes

Puisque la gamme comporte 7 notes ,7 possibles dicses et 7 bémols sont disponibles.
Cependant nous avons vu que 6 dicses et 6 bémols se partagent la méme note( en tempérament égal)

la combinaison de 7 bémols et 7 dicses produiraient 15 gammes (en incluant Cmaj =0 alteration)
mais ,a cause de I’enharmonie, seules 12 gammes restent disponibles

Mombre de digéses

Tonalité avec diéses
Tonalité avec bémaols

Mombre de bémols

0 et 6 sont communs,7 est exclu (6 ferme le cercle)
Tonalités avec dieses.

L’ordre des dieses est une suite de quintes ascendantes :F C GD A E B:
Le dernier diese est le 7éme degré(sensible ) de la gamme donc /a tonalité est un demi ton au-dessus

Par exemple tonalité avec 3# & la cleftonalité=A maj

Inverserment armature de B maj?

le dernier diese est A# L’armature est=5 di€ses

Nous avons vu que le dernier diese ¢tait le 7¢me degré de la gamme ensuite vient le 3 eme,le 6 eme etc.
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La serie complete est

Mombre de diéses degré de 'a gamme

Tonalites avec bémols

L’ordre des bémols est une suite de quartes ascendantes (quinte descendantes): Bb Eb Ab Db Gb Cb Fb

La tonalit¢ est donnée par I’avant dernier bémol
Le piege est un Bémol. La tonalité est F Maj 4 _savoir par coeur

| EEEEEE
Nbde Bemols BEOEREAL BENEEICEN b

Tonalité F Bb EBlAx Db [BENICE

Par exemple :
tonalité=Ab maj

Le nombre de bémols est le bémol apres de tonalité

Par exemple :Armature de Db maj = 5b

Le dernier bémol est le 4éme degré de la gamme puis vient le 1 er, le Seme etc dans I'ordre inverse des diese

Degre de la Gamme
Mombre de bemaoks

Armature des gammes majeur et mineures
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Mombre de Bémols Tonalités

1 3 4 5 & 7
Ab Db Gb Cb Fb
Ab Db Gb Cb
Ab Db Gb
Ab Db
Ab

C#

C# G#

C# G# Dg

C# G# DF Af

C# G# D A¥ E#

C# G# DF A¥ E# bB#
1 2 3 4 5 & T

O mMmEDO o

LTS

Mombre de diédses

Armature des modes d’églises

Les modes d’église sont basés sur la gamme de C Majeur dont chaque degré devient Tonique d’une gamme sans
altération. Mais bien entendu chacune de ces gammes peuvent étre transposées dans d’autres tons

Une méthode pratique est de construire une sorte de régle a calcul avec
* Une partie fixe qui indique les armatures
¢ Un part mobile qui indique le cycle des quintes
Digses

. partie fixe T 2 F 4

partiemobile  Cch Gh Db Ab Eb Bb F C G D A E B F# C#

En faisant coincider la tonique du mode avec 0
L’armature est donné par la tonalité correspondante

Flats Sharps
fpPat T 6 % 2 3 3 B3 pa W E BT
L]
Cb Gb b ab Eb BbF C ¢ oA E B Fitce [

Exemple:Armature d’une gamme dorienne (mode de ré) en tonalité Fa

Dorien = mode de Ré D=0
Tonalité= Fa la lecture de F donne 3b

En généralisant
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En remplacant la partie mobile par une suite de 7 quartes nous avons un second outil qui fournit I'armature d’une
tonalit¢ donnée pour chacun des modes.Ceci est particulierement utile pour savoir dans quel mode on se trouve

i
et

HiL]
[T

L HER

L 1NN
Mol
L 180

Dans quel mode est cet extrait ?
En faisant coincider la tonique (ici ré) avec 0

I’armature: ici 2b indique E=Mode Phrygien

- Partie fixe

[ Partie mobile
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Key signature

| Alain Lefebure

Tonal system is based upon Major and minor scales but the reference scale is C maj that

¢ Begins with C
¢ Has neither flat nor sharp

¢ forms the following tone-semitone succession:
more comprehensive approach is to consider major scale as two disjointed tetracords

This presentation displays two symetrical patterns

T-T-S

Reproduction of Tetrachord in either directions requires some adaptation to keep the pattern of tone and semitone

«— Each tetrachord adds a flat Each tetrachord adds a sharp —
Two scales with a fifth apart have a common tetrachord and one with an adding alteration (sharp in ascending
progression, flat in descending progression

Begining a scale on each degree of the C Maj scale requires mainly additionnal sharps to keep the maj scale
pattern

MNumbers of flats 1
Maote € DEEF & AB
MNumber of sharps B 24 1 3.5

Mumber of sharps
MNotes

Scales sorted by increasing number of flat produce an ascendig progression of fourths
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5 B

Eb Ab Db Gb

put together

Flats Sharps

Numberof Accidentals 6 5 4 3 210 1 2 3 4 5 6
Tonalities BB Db Ab Eb Bb F C G D AEB F#

In equal temperament Gb and F# are enharmonic (sound the same) and close up the progression
Since the scale is made of 7 notes,7 possible flats and sharps are available.

However we saw in the previous page that 6 flats and sharps yield the same note
Gb/F# said enharmonic (in our modern tempered system) so the progression closes up forming the so called Fifths
cycle

Combination of the 7 flats and sharps would produce ,including C maj, 15 theorical scales ,but due to enharmony

only 12 scales are available.

Mumber of sharps 0 - 4

Tonality with sharps C Ex &
Tonality with flats € Bb Eb F &b

MNumber of flats 0 & 3 1 B

0 and 6 are common,7 are excluded (6 closes up the circle)
Tonalities with sharps.

The order of the sharps is a fifth seriessF C GD A E B:
The Last sharp ofthe key signature is the seventh degree(leading tone ) of the scale so the fonality is half a

tone higher

Key Signature

Tonality

For example Key signature = 3# tonality=A maj
Conversely what is the key signature of B maj?

Last sharp is A# Key signature=5 sharps

As seen previously, the last sharp of the key signature is the seventh degree(leading tone ) of the scale then
comes the third degree,the sixth etc
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the complete serie is

Mumber of sharps Scale degres

Tonalities with Flats

The order of flats is a fourths series: Bb Eb Ab Db Gb Cb Fb

Tonality is given by the flat before last

Key Signature 1 2 3 4 5 & T
Bb E6TAb Db BHEICE Fo

Tonality F Bb EifA: Db BHEICE

for example : Key signature= 4 flats
tonality=Ab maj

The trick is one flat. The tonality is F Maj to be learn by heart
Key signature is the flat after tonality

For example : key signature of Db maj ps 5b

The last flat is the Fourth degree of the scale then comes the first, the fifth and so on.... in the reverse order of the
sharps one

Scale degree

Tonalities of minor scales

As previously mentionned Tonal system is composed of major and minor scales. So a key signature shares two

scales:
o a major scale
o a minor scale called « relative » whose tonic is a minor third below
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So C Major af’> A minor

In transposition we don’t need to bother to know if the scale is major or minor in the first nstance, just decide how
many sharps or flats to add or to remove.

The difficulty is then to adapt the accidentals of the two minor scales

J The Harmonic scale with its sharped Seventh degree in ascending and descending scale as well
*  The two Melodic scales with their 6th anf 7th degree altered in going up and both degree natural in going
down

Those two melodic scales are independant
but under this presentation melodic scale it’s sometimes called Rameau’scale

b3

%}

|-
=

*

)] ! !
Azcending melodic scale | Dezcending meladic scale

Rameau'scale

Key signature of Major and minor scales

Mumber of flats Tonalities

1 2 3 4 & & 7
Eb Ab Db Gb Cb Fb
Eb Ab Db Gb Cb
Eb Ab Db Gb
Eb Ab Db
Eb Ab
Eb

C#

C# G

C# G# DF

C# G# DF AF

C# G# DF# A¥F E#

C# G# DF AF EBEf bB#
it 2 3F & 5 a i

F
C
5
D
A
E
B
F
C

#
#

Mumber of sharps

Key signature of Church modal scales

Church modes are based on C Major scale. Each degree of the C Maj scale becomes the tonique of a scale with
neither flat nor sharp.
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A practical method to find the key signature of those transposed modes is to build a sort of sliding rule.

° The fixed part reads key signature
. the moveable part indicates the fifths circle

Sharps
Fixed Part R R B B Y

Moveablepat Cb Gb Db Ab Eb Bb F C G D A E B F# C#

By coinciding the tonic of the mode with 0
Key signature is given by the corresponding tonality

Flats Sharps
FixedPat 7 6 &5 4 32 1 01 2 3 4 5 6 7
L]
Cb Gb b ab Eb BbF C & DA E B ek [

Example:K ey signature of F on Dorian scale

Dorian = D mode so D=0
Tonality= F so 3b

o
o
=

I:"JI‘\_‘I

Er
fllEha ey = —

D
E
F
G
A,

e P

As a whole

A A new tool indicates the key signature of a given tonality in the different church modes.

It is specially useful to know_which mode you’re in

i
et

HiL]

[T

L HER

L 1NN
Mol
L 180

@ d"h::.

What mode is it?
By coinciding the given tonality (here D) with O

Key signature is given for each mode: Here 2b reads E=Phrygian mode
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Fixed Part

Moveable part
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Transposition tonale

| Alain Lefebure

Transposer signifie jouer dans une autre tonalité..
Il'y a 2 principales raisons de transposer:

o Se placer dans un registre plus confortable notamment pour les chanteurs ou pour faciliter le
jeu nstrumental comme par exemple dans la symphonie inachevée de Schubert:Le choix de la
clarinette en A évite un doigté trés difficile et donc un phrasé tres incertain

g

Clarinette en Sis %
————
=

Clarinette en Ta

— i

TI™

L
~

™

™

g

1
F

1

i

ou dans, d’autres cas ,augmenter I’étendue d’un timbre instrumental:La clarinette en A permet
d’atteindre le C# (en son réel) au lieu du D de la clarinette Bb
o Ecrire pour un instrument transpositeur,c.a.d qui sonne différemment de la partition écrite

Dans le cas des instruments transpositeurs le but est de pouvoir changer d’instrument et d’avoir le méme
doigté. Ainsi, un saxo alto et un saxo ténor joueront pareillement C D E mais on entendra Eb F G a T’alto et
Bb C D pour le ténor.

Technique de transposition (particulierement utile pour la transposition a vue)

1. Déterminer I'intervalle de transposition c’est a dire la différence entre la tonalité d’origine et C (0
altération)
I1'y seulement 3 pas possibles

2. Renommer les notes a 1’aide des clefs
Pour déterminer la clef de transposition

= Ecrire la note transposante(Bb pour la clarinette Bb) en clef de SOl
= Appeler cette note Do
= chercher la clef correspondante qui est C,F ou G placée sur une des 4 lignes inférieures

de la portée
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3. Adapter 'armature
4. La difficulté réside dans les notes mobiles du mode mineur

Remarque les altérations ne sont pas pris en compte dans la détermmation des clefs

Méthode pratique

Nous avons vu qu’il n’y avait que 3 pas reversibles de transposition qui ajoutent ou soustraient des di¢ses ou
bémols & la tonalit¢ d’origine
La direction est donnée par la clef.

Voici un tableau qui indique la clef dans laquelle il faut lire et les changements d’armature qu’il faut opérer

Instrument ' Instrument
Pas transpositeur transpositeur

Pour Jouer en son réel la partie transposée on prend la partie alternative ayant le méme nombre de pas
exemple: pour jouer la partie de hautbois (C)avec une clarinette Bb : utiliser la clef d’ut 3 (C3)et ajouter 2 #

Pour jouer la partie de clarinette Bb avec le hautbois :Utiliser la clef d’ut et ajouter 2 bémols (ou soustraire 2
b)
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Tonal Transposition

| Alain Lefebure

Transposition means playing a tune in another key
Transposition arises mainly in two situations

¢ Put the music in a more suitable range: Especially for vocalist .Or for an easier fingering as seen in
Schubert’ unfinished symphony

,-!3._.—._--__ e,
Clarinette en Sis %ﬁﬁ;ﬂ e = ——
v ! ¥
e T e
4 i ;
Clarinette enla [Fo—g— i =T
v i r

With
the Bb clarinet this example is very difficult to play and the phrasé and intonation are foolhardy. In
some case, it allows to to extend the range of a timbre. The A clarinet can reach the C# (in pitch tone)
msted of D with the Bb clarmet.

e Write for transposing instruments ie that sound differently from written note

In the case of transposing instrument the aim is to keep the same fingering so that one can interchange
mstrument

For example alto sax Eb and tenor sax Bb would play C D E with the same fingering but it sounds Eb F G
for alto sax and Bb C D for tenor sax

Technique (Especially for transposition at sight)
1. Determine the interval of transposition

The interval is measured from the key of the transposing instrument to C (no sharp, no flat)

Im=trument in Instrument in

OF ===l ===
V= - o=

o= —-

intersal

1. Change notes name with help of clef

To determine the transposing clef
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write the transposing note in treble clef (Bb for a clarinet in Bb for example)
Call this note C

Search the corresponding clef which is C,F or G

Use de correct key signature

The new tonality is given by C written in treble clef,read in the new clef

Transposing Renamed note Mewr clef M tonslity
instrumert b
S
l.‘r _
= &= =%
E I i -
v [ T )
B (k) — C _
Zintrehle clef
Transposing
[n=friment Renamed note New clet
oA
27 :
b L
E = © Cin
trehle
clef

1. Adapt accidentals
This is the real difficulty that occurs frequently in minor mode.

Remarks
Flats and sharps are not taken into consideration to find the clef

Practical method

From the previous page it brings out that there are only three reversible steps in transposition that will add or
substract flat or sharp to mitial tonalities

Direction is given by clef

Here is a practical table that indicates the reading clef and change in key signature

Transposing Reading clef Key signature adaptation Step
instrument

remove 2b
f-‘-.::ld Zb

o Add3b
remove 1b

Wezzo sopranc Add 1b
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HOW TO PLAY IN REAL SOUND
To change A transposed part into real sound take the alternative with same step

example: to play piano part with clarinet in Bb :Use alto clefand add 2 #

To play Clarinet Bb part with Piano :Use Tenor clefand add 2 flats
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Transposition atonale

Rappel:La musique atonale utilise les 12 notemdmmme chromatique

La transposition a vue est trés difficile car eleplique deux lourdes
techniques

1°) Le choix de la clef ,donné par l'intervalleetpue soit sa
gualité(maj ,min etc) qui détermine le nom deesot

2°) Le nombre et le choix des notes devant é&ieeegs qui varient en
fonction du sens de la transposition (vers lesedi@sl vers les bémols) et
de l'intervalle de transposition

Le modele est en clef de sol

A) Dans les sens des Bémoils.

Vers les Bémols Intervalles descendants

Saut de quinte
(Nombre)

Intervalle de transposition

Clef de lecture

Nombre de notes altérées |

Derniére note altérée
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B) Dans les sens des Dieses.

Vers les Diéses Intervalles ascendants

Saut de quinte
(Nombre)

Intervalle de transposition

Clef de lecture

Nombre de notes altérées T

Derniére note altérée

Le choix du sens depend de la qualité de l'interval

En effet une quinte montante (Sens des diesesgmtawne quarte
descendante (Sens des bémols) , un intervalle Mdguent Mineur etc
selon le tableau suivant

2 4 5) 6 7
Maj Min @Maj Min HDim Juste  Augn@Dim  Juste  Augm@Maj Min @Maj Min
Perfect Perfect

7 6 5 4 2
Min Maj @Min Maj HAugm Juste Dim QAugm Juste Dim @Min Maj @iMin Maj
Perfect Perfect

on peut noter que la clef qui correspond a la quijpiar exemple,dans un
tableau est équivalente a celle de la quarte dandre tableau
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Cependant, cette technique présente de grandesistgrreurs car la
mélodie contient des diéses et des bémols.

Il est donc préférable d'utiliser la méthode écrgsue de la Set théorie

La gamme chromatique est numérotée de 0 a 11

B 1 2 F 4 5 &5 T B 5 A N

C CfF D D#F EF F# G GF A AR D
Db Eb Fb Gh Ab Bb Ch

D'apres ce tableau on numérote les notes de ladiaédais on ajoute le
chiffre de transposition a chaque note. Quandranse est €gale ou
supérieure a 12 on retire 12 .En se reportanttdeaa nous avons la
mélodie transposeée.

Mélodie originale
f

o .
F e ']
Mo} [ b [ ]
+i—fe m—-&—ﬂ

@

]

&

!

Transposition a la tierce majeure (C-E= 4)

on a 8+4=120
4+4=8
10+4=14-12> 2

e
!
.
.
4
--._?_
.
g
——

of
o
L ]

Mélodie transposée
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Intenvalles

Toward the flats

Number of Skips of Fifths

Interval Transposition

Reading Clef

Number of altered notes l

Last altered note

Atonal Transposition

Reminder: Atonal music consists of the 12 tonea ofiromatic scale

Sight transposition is very difficult since twodwy procedures are
involved

1°) The choice of the clef that names the notethe transposed
melody.lIt is givrn by the interval of transpositiothatever its
guality(Maj,min dim and so on)

2°) Determination of the number and order of alleretes which depend
on the interval of transposition and the direc{ftmward sharps or flats)
which reverse the interval.

The model is written in treble key

A)Toward the flats

Descending intervals
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B)Toward the sharps

Ascending Intenals

Perfect fith Maj Second j Si j Thi Maj Sewventh Augmented Fourth Chromatic semi-tone

Baritone Alto Mezzo Soprano

2 4 5 6 7
Maj Min @Maj Min HDim Juste  Augn@Dim Juste  Augm@Maj Min @Maj Min
Perfect Perfect
7 6 5 4 2
Min Maj @Min Maj HAugm Juste Dim QAugm Juste Dim @Min Maj @iMin Maj
Perfect Perfect

Inverted intervals

Notice : The clef of fifth (for example) in theamnding fifths table is
similar to the clef of the fourth in the descendiifilps table

This technique is not effective when melody is atore of flats and
sharps
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The safest is the written method after the Sedrihe

Chromatic scale is numbered from O to 11

B 1 2 F 4 5 &5 T B 5 A N

C CfF D D#F EF F# G GF A AR D
Db Eb Fb Gh Ab Bb Ch

From the table assign a number to each note oh#éledy
Add the constant number of transposition.

When the result is 12 or more, subtract 12

The new figures give the notes of the transposddadye

Initial Melody

A
r
]
.
-
!
!
F_
il

L=

&
¢

Transposition a major third higher (C-E= 4)

so 8+4=12-0
4+4=8
10+4=14-12> 2
A iz
4 ] ol il = F [ ] e
== | ﬂ
0 8 2 9 s 0 I

Transposed Melody
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Clefs et transposition

| Alain Lefebure

Pour représenter I’étendue complete de la voix humaine il faudrait une portée de 11 lignes
_'J:
_Dt

Pour étre lisible cette portée fictive a été séparée en deux portées de 5 lignes séparée par une ligne
mntermédiaire

s i
? g B

Jr 5
N, , [

Il apparait clairement qu’une portée doit étre réduite a 5 lignes pour devenir lisible

!EB-

L
L

3

=

)

En fait ,a partir de la portée fictive de 11 lignes 3 portées €taient extraites auxquelles on assignait une lettre
F,C ou G nommées clefs pour les distinguer

e Les 5 lignes du bas ont regu la lettre F placée sur la 4¢éme ligne en partant du bas
* Les 5 lignes du haut on regu la letre G placée sur la 2 ¢éme ligne (toujours en partant du bas

¢ Lalettre C a ét¢ affectée la 6eme ligne avec 2 lignes au dessus et 2 lignes en dessous pour créer la 3
eme portée

11
10

i
|

—Sp g e MO ] 00 WD

* La portée G représente le registre aigu
e Laportée C est le registre moyen
¢ F est le registre grave

Les clefs sont toujours placés sur les lignes et donnent leur nom F,C ou G aux notes placées sur cette ligne
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o
<0

A
9

3 C
fi
o
‘ [
1
)
G2 G
-y
, [=
Fa F

Iy a 7 clefs utilisées(comme le nom des notes)

o ] clefde sol
o 4 clefd’ut
o 2clefde fa

Un son donné peut donc recevoir 7 noms

BT 3= g v o= B

c D

Les clefs visent a Limiter & 2 les lignes supplémentaires donc toutes les clefs (2 1’exception de la clefde Sol)
ont la méme étendue

=

%

P Sas
I L]

|-+
-

{_'r:)

One degre lower far
the treble clef high
register

=

Range for all clefs

la succession des clefs reposent sur I'alignement du La de référence qui est toujours dans un
mtervalle(contairement aux clefs)
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Résumé: Les clefs ont 3 fonctions

= Nommer un son
= Fixer la hauteur par rapport au La de référence
= Faciliter la lisibilité¢ en limitant le nombre de ligne supplémentaires

L’usage des clefs est d’une grande utilité¢ dans la transposition
Par exemple: Jouer la partie de flute ou de violon avec une clarinette Bb .

Clarinette Bb signifie qu'un Do joué a la clarinette sonne Bb (un ton plus bas ) que le violin ou le piano.Le
clarinettiste doit donc jouer un ton plus haut que le son écrit en utilisant la clefd’Ut 3¢me

Transposition
On entend B -
P o H__'_,_;—'—\—
—fﬁ—!.i l'//lfﬁ\\'. i Hh\"-
Clarinette . = = I Lu par le clarinettiste
e P [F— ,
. I et T g Foo#
A E
EI i
Viclen o = - |' { j
"'\\.'\II:I = 1 II\_\_I J_.ff I I 1
)
- E Iy
loue a la clarinette % o

Lu par le violoniste

A P'inverse le violoniste qui jouerait la partie de clarinette devrait jouer un ton plus bas en utilisant la clef d’UT
4eme
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_ Onetend

A =
E % ) I =
Vicln %_& = : it I leviplnniste lit

t‘:l I ; E
A ii: o 2 A

Clarinet Bb [ d——=——1 P = — l. -
'\."\IIIJ"-.I - _j_'_ I 1 ! 1
&' loue auviolon |

Une complication peut apparaitrelorsque la partie & transposer est dans une autre clef .Le raisonnement est

le méme avec adaptation des clefs.

Clarinet Bb:Je dis Bb DO J’écris Bb en clefde Sol et je cherche la clef correspondante (en se rappelant que

—— soprano

==

Baritone

les clef sont toujours sur une des 4 premicres lignes en partant du bas)

I'ecris

(£

C3

Clarinette Bb

i}

Coren Fa

Alto =ax Eb

1

Raisonnement en clef de Fa

Clarinette Basse Bb
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Je dis Do J’écris Bb en clef de Fa et je cherche la clefs adéquate

B = o
SES=—==F =
Clarinette Bb i G2
Foos° c
|
i O 1
Cor en FA == = B
& [~ i

c
c
| N
MosaxEh PR = Hr— o
I I

L]

Autre difficulté : La transposition avec deux instruments transpositeurs
Par exemple jouer la partie de clarinette en A avec une clarinette en Bb
Le raisonnement est toujours le méme en prenant en compte la clef de la partie a transposer

Clarinette Bb :Je dis Bb=A_j’écris le Bb en clef de sol et je cherche la clef correspondante

| werite

B = A i
Clarinet in B E% % Clarinet in A
§

Inversement pour jouer la partie de Clarmette Bb avec une clarinette en A

Clarinette en A Je dis A=B j’écris A en clef de sol et je cherche la clef correspondante

Remarque Importante Ni les accidents ni le registre ne sont pris en compte dans les transposition par les
Clefs
donc B est identique 2 Bb et E4 identique a E2

Clef et transposition en contrepoint était d’un usage courant A la Renaissance

La texture usuelle Voce piena était couramment utilisée . Elle consistait en deux groupes de voix A T'octave
(ST and AB) ,chaque groupe étant A la quarte ou A la quinte.

i

|

[~

Authente Plagal

Dans la forme authente le mode authente se trouvait au ténor,doublé a I'octave par le soprano,accompagné
d’une basse plagal elle mA®me doublée par I’alto.
Dans la forme plagale le mode plagale est au ténor et soprano, la forme authente A la basse et alto

Grace a l'usage des clefs chaque voix a la méme étendue
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il

2 séries de clefs sont utilisées

1. Les Chiavi Naturali (Nos exercices d’harmonie)

E,

1

™

Ty aasm“

ol

T

I

B | 5

i

2 — :

il — '

Da

.

2= i
Chizvi Maturali

2. the Chiavettes

== =
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Chisvettes  Small clefs

Le passage des chiavi naturali aux chiavettes entraine une transposition A la tierce supérieure du mode plagal

ﬁ‘- | Lo |

B¢

C E

Fooa

S5E

C E
Fi—rlsr—

3 | 1

F

o Le passage des chiavettes aux chiavi naturali transpose le mode authente a la tierce inférieure
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B
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Fooa
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o les autres mnversion ne sont pas valable c @
4
y o ———
el 5 | |
Y] ] HE:I
CooA
I!J I I
F D

ios

Clef transposition en contrepoint: 2°)Fugue

Sujet et réponse ont la méme notation
Le choix de la clef permet une transposition a la quinte ou a la quarte
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) | |
F. - | = | | [*] | | 1l |
5 | e
I
Motation Reponse
| |
[ e = = ] = I = H
r i A [+ 1 | [l ! 11 |
aii ¥ 1 1 I T 1 |
Une guinte au dessus
Sujet o
i &
o T Il ] | o 1 1 Fo] 1 |
son £ : 7 | ' H | i
F i 1 1 I I 1 I n |
Le raisonnement est toujours le méme
1°)Recopier les sons sur une portéee sans clef
2°)assigner le nouveau nom ( son transpos¢)
3°) Chercher la clef correspondante
] E F F
Clef of ) F . l
. . T LT T | = T 1
transpaosition ﬁ—g—- ¥ == ! e - = =
= 1 -.:I_-I 1 I EI
|: =
¢ ¢ =E c A =F
=F
e o - - .
Base e i e i SR ] =
= | 1 e | al | | | sard |
E 7 g T T )
f . l
7 I — i — I — I
Irteryal W = —1 I — I = ]
= X | = 1 | =l 1 | P 1 e
Oy = = = =l

3°) Correspondance des clefs
Etape 1: Donner un noma la note inférieure

Etape 2: Donner le nom de la transposition a la note supérieure (qui est la méme sur la partition)

> e
[_Clefz] o~ —
Tranzposition Meme
ligne
Clefl| —g—— |

—F
Etape 3: Trouver la clef qui nomme la note

La gamme est donnée par la sequence of clefs suivante C3 F4 C2 F3 C1 C4 G assignée a une note donnée
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Transposition

4
"

L]
L
m
n
a
=
m

= —=—— =
L
A, B 1
F & L (0] E

<l
\I:I
el
’I
[l
=311
b
EZha

- @ la quarte supérieure

La transposition est un simple
décalage de la séquence des clefs

Transposé C2 F3 C1 C4 G C3 F4
Base C3F4C2F3C1C4G
Intervalle 1 2 3 4 5 6 7
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Clef and transposition

| Alain Lefebure

Introduction

Human voice full range would require an eleven lines staff to be represented
t
;

A readable survival of this fictitious staff lies in the grand staff
s '\iEIJ' 3 -
? C

It clearly appears that the fictitious staff'had to be reduced to a five lines staff to become readable.
Actually three staves were extracted from this imaginary eleven lines staff with an assigned letter,namely
FCQG, called « clef» to keep them distinct

o The five bottom lines gave birth to the staff labelled F, the clefbeeing placed on the fourth line
from the bottom

o The middle (sixth)line along with two lines on each side resulted in the C staff with the
clefresting on the middle line (the sixth line)
o The five top lines yield the staff labelled G with the clef on the second line from the bottom

=k
=

10 ]

i
]

—pd g e T O e 0D WD

o The C staffis the medium register enclosed by the F and G clef
¢ F staff'is the low register
* G staff'is the high register

Clefs are always placed on a line and give their name to the note F,C or G
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ﬁ replace C
% replace

E replace F

There are Seven clefs in usage (like the number of scale notes)

* One G key
e Four C keys
e Two F keys

so a given note may received seven name

BT 3= g v o= B

Clefs aim to limit to two ledger lines above staff'so all clefs but treble key have the same range

F A =
o
_ﬂ =
) =
Fange for all clefs v {\\_)

one degre lower for
the treble clef high
register

Clefs are always placed on a line and give their name to the note F,C or G

o
<0

A
9

3 C
fi
o
‘ [
1
)
G2 G
-y
, [=
Fa F

Succession of clefs rely on the alignment of the reference pitch A which is or would be in a space
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Summary: Clefs have Three functions

* Name a sound
* Give the pitch compared to the reference

e limit the ledger lines above the staff and therefore enhance legibility

Clefs in transposition

Use of clef'is especially valuable in transposition

For example: Play a violin /oboe /flute melody with a clarinet Bb .

Clarinet Bbmeans that C play with a clarinet sounds Bb (a tone lower) than violin or oboe C

All read and play C

vl
But We hear
fi
7 = H= ! LN
1y 1 | | ] 1
‘LJ 1 1 1 1
l(- 1 .
Clarinet Bb Clarinet A Clarinet Eb

Ohoe

therefore clarinetist Bb must play a tone higher than written
using the alto clef
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Transposition

zound 5 - C
A
P ST
. 1 S 1 T T -
Clarinet st pp———
") [ — I .
- D F B
Written Part # \\_/ - F |
Lo o : Pl = -
violin Ha—at—— — | j
'k"-ll.l' X I T I I 1
Y
S S - o E i
Played with clarinet

Conversely if the oboeist wants to play the clarinet part ,he must play a tone lower using the tenor clef

— =ound c
4
Violin [Fad——= 7 e =
"‘«."'IIJ"- | !
'Y I E
Wiritten part | A ¢c b .
Clarinet Bb H =L 1 = I I
E= ]
)

From the two preceding examples we notice agreement between clefs

soprano

Baritone

A complication may occur when transposing from bass clef . The reasoning is the same but the clefs are
different

* Reasoning with treble clefClarinet Bb : I say Bb=C a7’ I write the Bb with treble clef and search the
fitting A clef (remember clefs are always on one of the first four lines from the bottom)
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Bh = C |'Wirite
)
| il A
Clarinet Bbh Oy f——F — s —— 03
] ' |
) F =
French horn inF - lpd—] o e — F3
::@t': —Ha—
Eh -
P il 1 T T
Ao saxEh Hpr—+—§F — —F—fF——

* Reasoning with bass clef
Clarinet Bb : I say Bb=Ca+’ I write the Bb with bass clef and search the fitting clef

Bb = c
clarinet B A ; ,,! ﬁ_g—i i 2
F -~ C
French hornin F :';:r': :E i r_j ﬁh"— 4
> - ]
Eb c c
Altto sax Eb # :: £ rj —rfa‘i—!ﬂ— 52
& I

Transposition with two different transposing instruments

For example Playing the Clarinet in A part with a clarinet in Bb

The reasoning is the same provide the part to transpose is taken into account.
Clarinet Bb : I say Bb=A a1’ I write the Bb with treble clef and search the fitting clef

| werite

B = A i
Clarinet in B E% % Clarinet in A
§

Conversely ,Playing Clarinet in Bb part with a clarinet in A

Clarinet A : 1say A=B a1’ I write the A with treble clef and search the fitting clef

= B B

b | |

clarinet & m clarinet Bl
I

[mportant remark Neither accidentals nor register is taken into account by Clef transposition
so B is the same as Bb and F4 is similar to E2

Clef transposition in counterpoint
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1A°) Voce piena
Clefs in transposition was a common usage in old time.

In renaissance music a common texture named Voce piena was used . It consists of two groups made of
two voices an octave apart (ST and AB)
The 2 groups form either a fourth or a fifth

i
in

|
.

Authente Plagal

Thank to clefs each voice had the same range notation

T

Two sets of clefs were used :

The Chiavi Naturali set that use the Soprano,alto,baritone and bass clefs
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Chizvi Maturali

o Tthe Chiavettes set that consists of treble,mezzo soprano,alto and baritone ot tenor clefs
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Chisvettes  Small clefs

Clef transposition in counterpoint:(cont..)
1A°)Voce piena (cont..)
Switching from

o naturali to chiavette causes a higher third transposition of plagal mode
o chiavette to naturali yields a lower third transposition of Authente mode
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Mat Mat Chiavette
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Plagal Authente

¢ other inversions are not valid
2A°)Fugue

Subject and answer are similar in notation but theA assigned proper clef makes answer A sounds a fifth
higher or a fourth lower

HS

Motation Arwver

4]

hebaty
1
[
TTH
===

%

AL
N
S
5
X
===

Zubject & fifth higher
£
1

X

N
el
viiN

L
=]

TTHE
TTH
m——-

viiN

Sound

Clef transposition in counterpoint:(cont..)
2A°)F ugue

The reasononing is always the same

1A°) Write a sound in given clef

2A°)assigned the name of the desired transposed sound
3A°) search the fitting clef
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3A°) Correspondance of clefs

Stage 1:Assign a name to the lower Note
Stage 2: Assign the transposed name to the upper(same note on the score)

o E
Clef 2 —e——
Tranzposition Same line
Clefl| —g—— |

— [l
Stage 3: Find the clef that names the note

The scale is given by the following sequence of clefs

C3 (Alto clef) F4 (Bass Clef)C2(Mezzo soprano clef) F3(Baritone clef) C1 (Soprano)C4 (tenor clef)
G(treble clef) assigned to a given note
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Fourth azcending trnasposition

Transposition is a mere shifting of this
sequence of clefs

Transposed C2 F3 C1 C4 G C3 F4
ROOT C3F4C2F3C1C4G
Interval 1 23 4 5 6 7
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